723,400

15,

© o
© <
A O
T
— >

1500 3

V =




0-000 2

24
06-******-00000-10

o

[@NON o
o o

-06.08.10(0)

[EEY

14
00
01
01
02
12

06-******-00000-10



0-00

03

723,

400

505

723,

400

217

723

06 -

* * * * * %

-00000-1

0



0-0004

( 1)
6,597,198

( 2)
3,948,696

( 3)

3,948, 696

5,000m3
540 m3 167, 886 06081
ooom3 ]
( ) 0. 8/ 0. 6m3
540 m{3 421,200 06081
( )
540 m3 5 , 310 06081
) N B B
.0k m 2. 0km )
540 m3 1,941,300 06081
540 m3 9 , 000

|
* * * * * %

-00000-10



0-0005

2)
2.648,502
3)
67,370
4)
m2 67,370
270 mp2 48.870 060810
270 mp2 45,900 060810
22x1524x3048,802kg/ | ]
| 10
60 72,600 060810
3)
2,146,892
4)
49,768
( )
50,000m3 0]
50 mB 10,860 060810

06 -

|
* * * * * %

-00000-10



0-0006

( ) I R R R
DI D 1.0km (0.2km )
50 m3 40,850 06081
6m 0 g
60 80,280 06081
6m 0 g
60 39,060 06081
( )
50,000m3 0 0]
50 m3 10, 860 06081
3 ( ) I R R R
DI D 17.0km (12.0km )
| 50 mB3 179,750 06081
BT2t 2.9t | | 0
0.1 t 760 06081
BT2t 2.9t | | 0
9. 0km (7.0km )
0.1 t 398 06081
G T N R R
50 m3 85,000
0.3 1,950

|
06_******

-00000-10



0-0007

4)
1,697,124
450 600mMM_ | 1
600 mMm
276 m 1,697,124 06081
3)
125,200
4)
125,200
1 71,610 06081
0 40 (m3/hnh) |
4 36, 800 06081
1 16, 790 06081
3)
209,040
4)
209,040

06 -

|
* * * * * %

-00000-10



0-0008

B
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 060810
15 209,040
6,597,198
471,360
( 1H ]
5k m 0
12m
1 471,360 060810
495,000
966,360
7,563,558
2.649,000
10,212.558

06 -

|
* * * * * %

-00000-10



000009

2,061,667
777777777777777777777777777777777777777777777777777777777 3,775
7777777777777777777777777777777777777777777777 2. 065,442
12,278,000
77777777777777777777777777777777777777777777 1,227,800
13,505,800

06 -

!
* ok ok ok K ok

-00000-10



0-0010

| K
| 1,097,100
| 2
| 1,097,100
| >
| 1,097,100
| 5,000m3
| 1,500 m3 466,350 06081
5,000m3
B H ( ) 0.8/ m3
| 1,500 m3 456,000 06081
1,500 m3 174,750 06081
1,097,100
93,000

06 -

|
* * * * * %

-00000-10



0-0011

93,000
77777777777777777777777777777777777777777777777 1,190,100
7777777777777777777777777777777777777777777777777777 46 4,000
77777777777777777777777777777777777777777777777 1,654,100
777777777777777777777777777777777777777777777777777777 36 1,239
77777777777777777777777777777777777777777777777777777 661
777777777777777777777777777777777777777777777777777777 36 1,900
777777777777777777777777777777777777777777777 2. 016,000
777777777777777777777777777777777777777777777777777777 20 1,600

06 -

!
* ok ok ok K ok

-00000-10



0-0012

17,

600

23,

400

06 -

|
* * * * * %

-00000-10



0-0013
SPK23040001 0O -0001
5, 000m3 1 m3
45. 14% 34. 64 % 20. 22 % 0. 00% 31
( ) ( ) ( )
( ) ( ) MTPCO00128
3 45. 14% 21,900 3 20, MMI0PTO00128
0. 8/ 0. 6m3 0. 8/ 0. 6m3
( ) RTPC000Q6
34. 64 % 20,592 25, B0OPTO000Q6
TTPCOOOY3
20. 22 % 148 I¥IBTOO00Y3
EPO0O1
310. 9 0
A=1 B=1
c=2 D=1
E=3 5, 000m3
MTPC00128 = * / ) + * 1.01)
=11,910 |* (690 / 180) + (14,630.0) = 21,900
310.8868 = 317.6600 *
([45.140/21200*21,900/20,600]) * [485.140/45.140]
+ ([34.640/100*20,592/25,300]) * [34.640/34.640]
+ ([20.220/100*148/138]) *|[20.220/20.220]
+ [100-45.140-34.640-20.220]/100

06 -

*xxxx*x_00000-10



0-0014

S1010005 0 -0002
5.,000m3 B H( ) 0.8/ 0. 6m3 100 m3
- 28 _ S9021 0-0003
6 7t 0.962 81, 090 78,008 100/ 104
2014
#91
1 2
100 mg3 78,010
1 m3 780
A=1 5,000m3 B=1 BH( ) 0.8/ 0. 6m3
C=12 260
D = 104( m3/

06-******-.00000-10



0-0015

- 28 S9021 0 -0003
6 7t 2014 1
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
1383.00 L 148 19, 684
< > ( ) KR0O800OS5
6.0 7.0t 1.54 26|, 500 40,810
#91
1 4
1 81,090
A=11 6 7t B=1 ( 1 )
C=133 (LY ) D=1.54 ( /)
E=6 2014

06-******-.00000-10



( ) SPK23040007 0O -0004

( )
28. 44% 59.55% 12.01% 0.00%

( ) ( ) (

2 28.44% 8,1

©
o
N

59. 55% 20,592

12. 01 % 148
926. 5
A=1 B=14 ( )
MTPCOO0OSG 2 = Y ] Y+ *1.1)
- 1713 *|(690 / 180) + (5,478.0) = 8,190

926.4285 = 1,011.4000 |*

([28.440/21200*8,1290//7,700]) * [28.440/28.440]

+ ([59.550/100*20,592/25,300]) * [59.550/59.550]

+ ([12.010/100*148/138]) * |[12.010/12.010]

+ [100-28.440-59.550-12.010]/7100

06-******-.00000-10




0-0017
SPK23040002 0 -0005
( ) DI D 17.0km (12.0km ) 1 m3
25.13% 61.92% 12.95% 0.00% 3,74
( ) ( ) ( )

[ ] [ ] MTPCOO0O017"
4t 25.13% 7,7934¢t 7, MZIBT00017"
( ( ) ) ( ( )

( ) RTPCO000Q7
61.92% 18,824 21, RUBTO000Q7
TTPCO0O0O013
12.95% 148 T3BT00013
EPOO1
3,595 0
A=2 B=5 0. 28m3( 2m3)
c=1 ( ) D=2 DI D
F=51 17.0km (12/0km )
MTPCOO0017T1 = N / )+ ( *1.1) +
= /507 * | (830 / 180) + (5,225.0) + 233 = 7,793
3,594.4382 = 3,749.2000 *
([25.130/100*7,793/[7,323]) * [25.130/25.130]
+ ([61.920/100*18,824/21,100]) * [61.920/61.920]
+ ([12.950/100*148/138]) * [12.950/12.950]
+ [100-25.130-61.920-/12.950]/100

06-******-.00000-10



0-0018

S1050041 0 -0006
100 m2
RTPC0000O9
0.152 25, 272 3,841
9
RTPC000O04
0.152 25, 064 3,800
9
RTPC00O00O?2
0.152 17, 472 2,655
9
- 28 _ ( ) S9035 0-0007
2.9t _ 0.8m3 0.152 50|, 400 7,660
9
#09
1 0% 17, 965 135
100 m2 18,100
1 mp2 181
= 1 * 100 /| D = 1 * 100|/ 656 = 0, 152( 4
= 1 * 100 / D =/ 1 * 100 / 656 = 0.152( ) 3
= 1 * 100 / D = 1 * 100 /| 656 = 0.152( ) 4 3
( ) = 10 100 656 = 0.[152( 4

06 -

* * * * * %

-00000-10



0-0019

- 28 ( ) S9035 0 -0007
2.0t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
119.00 L 148 17,612
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.06 11,500 12,190
#91
1 6
1 50, 400
A=19 _ 0.]8m3 B=119 L/ )
c=1 ) D=1.06 ( /)
06-******_00000- 10



0-0020

S105004 3 0 -0008
100 m2
RTPCO000O9
0.143 25, 272 3,613
9
RTPCO00O0O4
0.143 25| 064 3,584
9
RTPCO000O 2
0.143 17, 472 2,498
9
- 28 _ ( ) S9035 0-0007
2.9t _ 0.8m3 0.143 50, 400 7,207
9
#009
1 0% 16|, 902 98
100 m2 17,000
1 mp2 170
= 1 * 100 /| D = 1 F 100/ 701 = 0| 143( ) 4 3
= 1 * 100 / D =/ 1 * 100 / 701 = 0.143( ) 4 3
= 1 * 100 / D =1 * 100 /| 701 = 0.143( ) 4 3
( ) = 100 / D =| 100 701 = 0.[143( ) 4 3

06-******-.00000-10



0-0021

S10500209 0 -0009
22x1524x3048,802kaqgl/ 10 1
( ) KO100065
22x1524x3048,802kg/ 10.000 4 4 440
90
( ) K0100073
22x1524x3048,802kg/ 1.000 770 770
#91
1 0
1 1,210
A=3 22x1524x3048,80R2kg/ B=1
cC=10 ( ) D=2

06-******-.00000-10



0-0022
( ) SPK23040007 0 -0010
50, 000m3 1 m3
44. 49 % 35.67% 19.84% 00 % 22
( ) ) )
( ) ( ) MTPCOO01H3
2014 44.49% 21,600 2014 21| MOUPTO001H3
0.8/ 0.6m3 0.8/ 0.6m3)
( ) RTPC0O0O0(6
35.67% 20,592 25, RUPTO000(6
TTPCOO0O13
19. 84 % 148 T3BT00013
EPOO1
217.2 0
A=1 B=1 50, 000 m3
217.1393 = 229.0500 *
([ 44. 490/ 100*21,600/21,600]) * [44.490/44.490]
+ ([35.670/100*20,592/25,300]) * [35.670/35.670]
+ ([19.840/100*148/138]) [ 19.840/19.840]
+ [100-44.490-35.670-19.840]/100

06-******-.00000-10



~N ~

SPK23040002 0 -0011
( ) DI D 1.0km (0.2km )
25.13% 61.92% 12.95% 0.00%
( ) ( ) (
[ ] [ ]
4t 25.13% 7,7934¢t
( ( ) ) ( ( ) )
( )
61.92% 18,824
12.95% 148
817.0
A=2 B=5 0. 28m3(
c=1 ( ) D=1 DI D
F=5 1.0km| (0.2km )
MTPCOO0017T1 = N / )+ ( x1.1) +

= /507 * | (830 / 180) + (5,225.0) + 233 = 7,793

816.9265 = 852.1000 *

([25.130/100*7,793/[7,323]) * [25.130/25.130]
+ ([61.920/100*18,824/21,100]) * [61.920/61.920]
+ ([12.950/100*148/138]) * [12.950/12.950]
+ [100-25.130-61.920-/12.950]/100

06 -

*xxxx*x_00000-10




0-0024

S0822 0O -0012
6 m 10
RTPCOO0O0O0O09
. 116 25, 272 2,931
RTPCO0OO0O0O01
. 116 22, 464 2,605
RTPCOO0O0O0O0O?2
. 116 17, 472 2,026
- 28 ( ) S9035 0-0013
2.9t 0. 8m3 . 116 50, 150 5,817
#91
1
1 13, 380
1, 338
A=1 B=1 6m
= 1 *~ 10 [/ D = 1 *, 10 /| 86 = 0.116 ( 4
= 1 * 10 [/ D = 1 * 1 / 86 = 0.116 | ) 4 3
= 1 * 10 [/ D = 1 * 1 /| 86 = 0.116 | ) 4 3
= 10 / D = 11 / 6| = 0.116 ( ) 4 3

06 -

* * * * * %

-00000-10



0-0025

- 28 _ ( ) S9035 0 -0013
2.9t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
94 .00 | 148 13,912
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.36 11,500 15,640
#91
1 6
1 50, 150
A=21 _ 0.8m3 =94 L/ )
c=1 ) D=1.36 ( /)
06-******_00000-10



0-0026

S0822 0O -0014
6 m 10
RTPCOO0O0O0O09
0. 069 25, 272 1,743
RTPCO0OO0O0O01
0. 069 22, 464 1,550
- 28 ( ) S9035 0-0015
2.9t 0. 8m3 0. 069 46, 630 3,217
#91
1 0
10 6,510
1 651
A=2 B=1 6m
= 1 10 / D = 1 *| 10 [/ 144 = 0.069 ( ) 4 3
= 1 * 10 [/ D = * 10 |/ 144 = 0.069| ( ) 4 3
= 10 [/ D = p0 [/ 144 = 0. 069 () 4 3

06-******-.00000-10



0-0027

- 28 _ ( ) S9035 0 -0015
2.9t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
78.00 | 148 11, 544
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.26 11,500 14,490
#91
1 4
1 46,630
A=21 ~ 0.8m3 PB=78 L/ )
c=1 ) D=1.26 ( /)
06-******_00000- 10



SPK23040411 0 -0016
BT2t 2.9t 1 t
14. 15% 82. 74% 3.11% 0.00% 8,
) ( ) ( )
MTPCO0O1H
14.15% 7,730 7, MIPTO0O01H
2t 2.9t 2t 2.9t
RTPCO0O0OQ
41.50% 22,464 25, RIPTO00O0Q
( ) RTPCO0O0OQ
40. 83% 20,592 25, ROUPTO00O0Q
( ) ( ) EROO09
29. 709 0
TTPCOOO 1
3.11% 148 TZIBTOO0O1
EPOO1
7,609 0
A=1 BT2t 2.9t
MTPC0O0154 = o ( / Yy o+ * 1.01)
=441 *|(760 / 160) + (5,610.0) = 7,730
7,608.1307 = 8,606.4000 *
([14.150/100*7,730//7,190]) [14. 150/ 14.150]
+ ([ 41.500/100*22 464/ 25, 700] [ 40.,830/ 100 * 20,592/ 25.3001) [8R. 740/ (41.

06 -

*xxxx*x_00000-10



0-0029

60

SPK23040411 0 -0016
BT2t 2.9t t
14.15% 82.74% 3.11% 0.00% 8,
( ) ) (
+ ([3.110/100*148/138]) * [3.110/3.110]
+ [100-14.150-82.740-/3.110]/100

06 -

*xxxx*x_00000-10



0-0030
SPK23040410 0 -0017
BT2t 2. 9t 9.0km (7.0km ) 1 t
14.21% 82.66% 3.13% . 00 % 4,50
( ) ) ( )
MTPCOO144
14.21% 7,730 7, M¥BTO00194
2t 2.0t 2t .9t
RTPC000Q1
41.66% 22,464 25| RUBPTOO0O0(1
( ) RTPC0O0O0(6
41.00% 20,592 25, RUPTO000(6
TTPCOO0O13
3.13% 148 T3BT00013
EPOO1
3,983 0
A=1 BT2t 2.0t B=2 D
c=9 9..0km (7.0km )
MTPCOO154 = N / * 1.1)
= 441 *|(760 / 160) + (5,610 7,730
3,982.7402 = 4,504.4000 *
([ 14.210/100*7,730//7,190]) * [14.210/14.210]
+ ([41.660/100*22,464/25,700] + [41.000/100 * 592/25,300]) * [8R2.660/ (41
+ ([3.130/100*148/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

06 -

*xxxx*x_00000-10



SPK23040092 0 -0018
450 600mm 600mMmMm 1 m
0.00% 6. 24% 93.76% 0.00% 11, 22
) ( ) )
RTPC000(d?2
4. 47 % 17, 472 22, BROUPTO000(2
RTPC000d9
1.77% 25,272 26, RUPT000d9
( ) TTPCDO02176
600mm 93.76% 4,920 500 mm 9, 30PT00192
( ) ( )
R6.8 P388
E9999
6,149 0
A=3 B=2
c=3 450 600mm D=40 600 mm
F=1 G=2 1 ( . 3)
| =1 - ( )
6,148.2415 = 11,221.0000 *
+ ([4.470/100*17,472//22,300] [1.770/100 * 25,272/ 26,500] [6.240/ (4. 470+
+ ([93.760/100*4,920//9,300]) [ 93. 760/ 93.760]
+ [100-6.240-93.760]1//100
C ) * + | ( ) )

06-******-.00000-10



S081

0 -0019

0-0032

. 500

25

272

RTPCOO0OO0O09
12, 636

. 100

22

464

RTPCO0OO0O01
2,246

. 000

17

47 2

RTPC0000?2
34,944

. 500

4 3

560

S9035
21, 780

0-0020

#91

71,610

06 -

* * * * * %

-00000-10



0-0033

- 28 _ ( ) S9035 0 -0020
2.9t 0.8m3
RTPC00O0OSG6
1.00 20, 592 20,592
TTPCOO0O013
65. 00 | 148 9,620
< > ( KTPCO00O0OSG6
0. 8m3( 0. 6m3) L9t 1.16 11,500 13,340
#91
1 8
1 43,560
A=12 _ 0.8m3 PB=65 L/ )
c=1 ) D=1.16 ( I )
06-******_00000- 10



0-0034

S1050031 0 -0021
0 40 ( m3/ h) 1
RTPCO0OO0O0O01
. 140 22, 464 3,144
9
( ) S9000045 0-0022
150mm, 10m .000 469 469
7. 5kw 9
-16 _ S94609 0-0023
25k VA .000 5, 320 5,320
2 9
#09
% 8, 933 267
9,200
A=1 ( m3y h) B=1

06 -

* * * * * %

-00000-10



0-0035

( ) S9000045 0O -0022
150 mm, 10m 7. 5kw
< > KR0O908
@150mm 7. 5kW 10m 1. 20 391 469
#91
1 0
1 469
A=3 150 mm, 10m B=1 / )

06 -

* * * * * %

-00000-10



0-0036

- 16 _ S9469 0 -0023
25k VA 2
TTPC0OO0O013
22.00 L 148 3,256
< > ( ) KR020003
25k VA 1.20 720 2,064
#91
1 0
1 5,320
A=6 25k VA B=2 L/ )
C=1.2 ( ) D=3 2
06-****%%*_00000- 10



0-0037

v2001 0 -0024
1
( ) M39209
8 689 5,512
5m3
SPK23040095 0-0025
1 11, 270 11,270
(kagl ) 800Kkgg 1200Kkg
#91
1 8
1 16, 790

06 -

* * * * * %

-00000-10



0-0038
SPK23040095 0 -0025
(kg/ )800kg 1200kg 1
9. 03% 88. 96% 2. 01% 0. 00% 13,39
) ( ) ( )
< > ( KTPCO0O0O0109
0. 28m3( 0. 2m3) 1.78.52% 6, 63 1.7t 5/, KBIPTO000Y9
0. 28m3( 2m3)
( ) ( ) EKOOY9
1 93 0
RTPCOO0O0Q2
35.01% 17, 47 22, BUPT000Q2
( ) RTPCOOOQ6
28. 33% 20, 59 25, BRUPTO000Q6
RTPCOO0OO0QY9
14. 84 % 25, 27 26, RUPTO000QS9
RTPCOO0O0Q1
5. 7T5% 22, 446 25, RUPTO000Q1
( ) ( ) EROO0Y9
559. 09 0
TTPCOOO13
1.90% IT¥FBTOO0013
( ) ( ) EZ009
0

06 -

*xxxx*x_00000-10



0-0039

39

*

13,

EPOO1
0

1200kg

)

/100

) 800kg

(1

0 -0025
00 %

0.

1200k g
01 %

2.

03 %

9.

(kgl

©O© N
I
mA

520]

11,

[ 9.030/ 8.

*

900]

010/ 1.

*

[ 2.

*

010]/100

MmN
i
<O

0000

391.

13,

268. 0407

11,

520/100*6, 630/5,810])

([ 8.

900/ 100*0/138])

(1.

+

030-88.960- 2.

[ 100- 9.

+

*xxxx*x_00000-10

06 -



0-0040

( , H , ) S1000007 0O -0026
5k m 12m 1
S10000009 0-0027
5k m 1.000 163, 680 163, 680
12m 48t
+00
163, 680 3 2176, 3366800 * 2
, S10000009 0-0028
1.000 144, 000 144, 000
1 471, 360
A=5 ( km) B=1 12m
c=1 - D=1 -
E=48 (t) F=1 -
H=1 - J=1 -
L=1 ,

06-******-.00000-10



0-0041

S10000009 0 -0027
5k m 12m 4 8t
Juoo1
.000 , 410 3,410
t E0O0O01
.000¢ , 410 163, 680
163, 680
A=1 B=5 ( km)
C=1 12m D=438 (t)

06 -

* * * * * %

-00000-10



S1000009

0 -0028

0-0042

KROOEOOG

X >
o
P o

418. 000 750 36, 000
KROOEOODO9

418. 000 750 36, 000
KROOEOOS

418. 000 750 36, 000
KROOEOO?7

418. 000 750 36, 000

1 144,000

D=48 (t)

06 -

* * * * * %

-00000-10



0-0043

S1010005 0 -00209
5,000m3 B H( ) 0.8/ 0. 6m3 100 m3
- 28 _ S9021 0-0003
6 7t 0.375 81, 090 30,408 100/ 267
2014
#91
1 2
100 m3 30,410
1 m3 304
A=1 5,000m3 B=1 B H ( ) 0.8/ 0.6m3
C=2 50
D = 267(m3/

06-******-.00000-10



SPK23040003 0 -0030
1 m3
24. 02 % 49, 00% 26. 98% 0. 00% 11
( ) ( ) ( )
< > ( ) KTPCOO0OO018
0. 8m3( 0. 6m3) 24. 02 % 10, 700 8, BOPTOO0O0 18
0. 8m3( 0. 6m3)
( ) RTPC000Q6
49. 00% 20, 592 25, RO PTOO0O0Q6
TTPCOOO 13
26. 98% 148 T¥FBTOOO0 Y3
EPOO1
116. 5 0
A=1
116. 4414 = 118. 7900 *
([ 24.020/100*20, 700/ 8,800]) * [24..020/ 24. 020]
+ ([49.000/21200*20,592/25,3001]) * [ 49. 000/ 49. 000]
+ ([26.980/100*148/138]) * [26. 980/ 26. 980]
+ [100-24.020-49.000-26.980]/7100

06 -

*xxxx*x_00000-10



0-0045

N O

X1000
Y1BO1
7.198
Y2999
8,696
Y3999
8,696
SPK23040001 54 A210B81, C=2
m3 7A = . B= L, E45,
S1010005 54 AZ80B=1, C=12
5, 000m3 m3 1A=5, 000 m3 .8/
SPK23040007 ) 54 A826B54
m3 0A = . B= (
SPK23040002 54 A595B=5, C=1
( m3 1A = , B= 2m3) ,
), D=DI ( 1
#0041 c=1
8C =
W0 00 1 54 AZQUOO, B=0,
m3 8A=000, B=
Y1BO11P
8,502
Y1BO11P201
7.370
Y1B01120104
m2 7,370
S1050041 27 181
m2 8,870
S105004 3 27 170
m2 5,900
S10500209 6 A230B=1, C=1
22x1524x3048,802kg/ 2A=22x1524x3 , C=

06-******-.00000-10



0-0046

N O

Y1B011204
146, 892
Y1B01120419
449, 768
SPK230400(07 A217B21
10A = , B= 50,000
SPK23040002 A827B=5, =1, D=1
4 0A = , B= 2m3) ,|C
), D=DI D (0.]2k
S0822 1A338B=1
8 0A = , B= 6 m
S0822 A3 1B=1
39A= , B= 6 m
SPK23040007 A217B21
10A = , B= 50,000
SPK23040002 3A595B=5, =1, D=2
179A= , B= 2m3) ,
), D=DI D (1
SPK23040411 7A6009
A= BT2t 2.
SPK23040410 3A883B=2, C=9
A= BT2t 2. , =
Okm (7. 0km )
#0041 cC=1
8 6C =
W0001 1AZ20000, B=0, C=
8BbA=000, B=
WO00O02 6A568B00, B=0, C=
1IA=950 B=
Y4999
697,124
SPK23040092 6A239B=2, =3, D=40, =1
., 6 97A = = 00 mm, D=
06-*****x*x_00000-10



0-0047

600mm, F= , G= 1
0.3),1=-( )
Y1B011206
125,200
Y1B01120601
125,200
S0812 71,610
71,610
S10500831 9A200B=1
0 40 ( m3/ h) 3 6A = 0 40 (m3/h), B=
V2001 16, 790
16, 790
Y1B011P221
209,040
Y1B01122101
209,040
R0369 B 13, 936
209,040
G00O0O
6,597,198
Z0004
471,360
S1000007 ( , H , 471A860B=1,C=1,Db=1,E=48, F=1, H=1, J41,
5k m 4 7 1A = (km) ,B=12m , C=-  D=-, E=
L = ,
Z0050 | 5,823,076
495,.0.0.0 0.0825
...... 6,920, 176
494,000
...... 494000=5823076*0.0850 (a.o0
25*1.03)
G1000
966, 360
G2000
7,563,558

06_******

-00000-10
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0-0049

Y3999
1,097,100
SPK23040001 1,50 A3l10B81,C=2, D=1, E=3
m3 4 6 6A = , B= , C= , D= , EJ5,
S1010005 1,50 A304B=1, C=2
5,000m3 m3 456A=5, 000m3 , B=BH( ) 0.8/
SPK23040003 1,50 Afl6. 5
m3 174A=
GO0OOO
1,097,100
Z0050 | 1,097,100
983,.0.0.0 0.0825
...... 6,920,176
93,000
...... 93000=1097100*0.0850 (0.]08
5*1.03)
G1000
98,000
G2000
1,190,100
Z0020 | 1,190, 100
464,.0.0.0 0.3716
...... 7,979, 536
464, 000
...... 464000=1190100*0.3902 (qa.
00*1.05)
G4000
1,654,100
Z0030 | 1,654,100
361,.2.3.9 0.2185
...... 11,092, 536
1.0000
361, 420
...... 361420=1654100*0.2185 (qa.
Z0031 | 1,654,100
6.6.1 0.00014

06_******

-00000-10



0-0050

2,217,600
1,654,100
...... 661=1654100*0.0004
G4100
36 900
G4800
2,01 000
20038 | 2,016,000
20 6.0.0 0.1000
...... 2,016,000
...... 201600=2016000*0.100
G5000
2,21 600
G600O
15,72 400

06_******

-00000-10



0-0051

S P K2 3 0400 0-0010 0 1 A=1,B=1,C=2, D=1, E=3
m3 1 311
5, 000m3
S10100005 - Q0O 2 A=1,B=1,C=12
5, 000m3 m3 100 78,010
B H( ) 0.8/ 0. 6m3
S9021 |0 -00038_ A=11,B=1,C=133,D=1.54, E
6 7t 1 81, 090
2014
S P K2 3 0400 0-0070 O & ) A=1, B=4
m3 1 927
( )
S P K2 3 0400 0-0020 0 5 A=2,B=5,C=1, D=2, F=51
( ) m 3 1 3,595
DI D 17.0km_(12.0km
S10500401 - Q0O 6
m 2 100 18,100
S9035 |0 -0002Z8_ ( ) A=19,B=119, C=1, D=1.06
2.9t _  0.8m3 1 50, 400
S10500403 - Q0O 8
m 2 100 17,000
S10500209 - Q009 A=3,B=1,C=10, D=2
22x1524x3048,802kg/ 1 1,210
10
S P K2 3 0400 0-0070 1 0 ) A=1,B=1
m3 1 217
50, 000m3
SP K23 0400 0-0020 1 1 A=2,B=5,C=1, D=1, F=5
( ) m3 1 817
DI D 1.0km (0. 2km )
S0822 |0 -QO012 A=1,B=1
6 m 10 13,380
06-******_00000-10



0-0052

S9035

01

S0822

01

S9035

01

SPK230

10 1

SPK230

00 1

SPK230

20 1

S0812

01

S9035

02

S10500

02

S90000

02

S9469

02

BTN

V2001

0 -0
0 -0
0 -0
400 4-10Q
400 4-10
400 0-9Q
0 -0
0 -0
301 -Q
405 - (
0 -0
0 -0

02

06-******-.00000-10



0-0053

S P K2 30400 0-9050 2 5 A=3, B=6, =2, D=2
1 11,270
(kg/ )B800Kkg 1200kag
S10000007 - 0026 ( H , ) A=5, B=1, =1, D=1, E=48, F=
5km 1 71, 360
12m
S10000009 -0027 A=1, B=5, =1, D=48
5km 1 63,680
12m 48t
S10000009 -0028, A=5, D=48, K=1
1 44,000
S10100005 -0029 A=1, B=1, =2
5,000m3 m3 100 30,410
BH( 0.8/ 0. 6m3
S P K2 30400 0-0030 30 A=
m3 1 117
06-******_00000-10



0-0054

(0.

9)

6)

(3.

7)

TTPCDO0276

600mMm

NG N

ol

R6 |

8

P388

999
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0-0055

Wo0001

m3

700

W0 00 2

500

06_******

-00000-10
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0-0057

Iv2001 M3929 ( )

06-******-.00000-10



0-0058

Y1 BO1
6, 97,1928 282, 190
Y2999
Y3999
S P K2 3 0 400- 000010 1
m 3 40 67, 886 48,600
5 000m3
S10100005 0002
5 000m3 m 3 40 21,200 106, 920
B H( ) 0.8/ . B m3
S P K2 3 0 400-000070 4 ( )
m 3 40 00,310 264,600
( )
S P K2 3 0 400- 000020 5
( m 3 40 1, 41, 3010, 1117, 800
DI D 17. 0km (12. 0km
#0041
1 18,000 0
WO 001
m 3 40 18,000 0
()
Y1BO0O112
Y1B011201
Y1B01120104
m 4

06-******-.00000-10




0-0059

S10500401- 0006
m 2 70 48,870 36,180
S10500403- 0008
m 2 70 45,900 34,020
S10500209- 0009
22x1524%x3048 802kg/ 60 72,600 0
10
Y1B011204
Y1B011204109
S P K2 3 0 400-000071 O ( )
m3 50 10,860 3,250
50 000m3
S P K2 3 0 400-000021 1
( ) m3 50 40, 850 23,500
DI D 1. 0km (0..2km )
S0822 0-0012
6 m 60 80,280 59,700
S0822 0-0014
6 m 60 39,060 28,260
S P K2 3 0 400-000071 O ( )
m3 50 10,860 3,250
50 000m3
S P K2 3 0 400-000020 5
( ) m3 50 79,750 03,500
DI D 17.0km (12. 0km
S P K2 3 0 400-401011 6
BT2t 2.9t t 0. 760 598

****.00000-10




0-0060

S P K2 3 0 400-401001 7
BT2t 2.9t t 0. 398 314
9. 0km (7. 0km )
0041
1 86, 950 0
W0 00 1
m 3 50 85,000 0
)
W0 0 0 2
0. 1,950 0
Y4999
S P K2 3 0 400-009021 8
450 600mm m 76 1, 97,124 60, 632
600 mMm
Y1B011206
Y1B011206010
S0812 0-00109
1 71,610 60, 122
S10500301- 0021
40 (m3/ h) 4 36,800 12,576
V2001 0-0024
1 16, 790 9, 328
Y1B011221

06-******-.00000-10




0-0061

Y1B011221041

RO369 B
15 09,040 209, 040
70004
71, 360 0
S10000007- 0026 (
5k m 1 71, 360 0
12m

06-******-.00000-10




0-006 2

Y1BO1
1,097,100 321,000
Y2999
Y3999
S P K2 3 0 400-000010 1
m 3 1, 5|00 66, 350 135, 000
5 000m3
S10100005> 0029
5 000m3 m3 1,500 56,000 1|15, 500
BH( ) . 8/ m3
S P K2 3 0 400-000033 0
m 3 1,500 74,750 70,500

06-******-00000-10




